15. Popov, G.Ia., Certain new relations for Jacobi polynomials. Sib. matem. zh. . Vol. 8, N $\mathrm{N}^{6}$, 1967.
16. Shtaerman, I. Ia., Contact Problems in the Theory of Elasticity. M. -L. . Gostekhteorizdat, 1949.
17. Tricomi, F. G., Integral Equations (Russ. transl.), M., Izd. inostr. 1it., 1960.
18. Szego, G., Orthogonal Polynomials (Russian translation). M., Fizmatgiz, 1962.
19. Tsel'nik, D. S., Symmetric contact forms of a jet and the surface of a heavy fluid. Izv. Akad, Nauk SSSR, MZhG, N83, 1966.
20. Gradshtein, I. S. and Ryzhik, I. M. . Tables of Integrals, Sums, Series, and Products. M., Fizmatgiz, 1962.
21. Bateman, G. and Erdelyi, A., Higher Transcendental Functions. Hypergeometric Functions, Legendre Functions (Russian translation). M. , "Nauka", 1965.
22. Bateman, G. and Erdelyi, A., Higher Transcendental Functions. Bessel Functions, Parabolic Cylinder Functions, Orthogonal Polynomials (Russian translation). M. "Nauka", 1966.

Translated by P. F.

# CONCENTRATED FORCE IN A TRANSVERSALLY-ISOTROPIC HALF-SPACE AND IN A COMPOSITE SPACE 

PMM Vol. 33, N³ 3, 1969, pp. 532-537
V. A. SVEKLO
(Kaliningrad)
(Received October 22, 1968)
The problem of the effect of a concentrated force in an isotropic (orthotropic) space has been examined in [1-3].

The problem is investigated below by the method of complex Smirnov-Sobolev solutions, generalized to a system of differential equations.

The results obtained are of elementary nature just for a transversally isotropic solid.

1. Complex solutions of the equilibrium equations. If the potentials $\varphi, \psi, \chi$ are introduced by assuming

$$
\begin{equation*}
u=\frac{\partial \varphi}{\partial x}+\frac{\partial \psi}{\partial y}, \quad v=\frac{\partial \varphi}{\partial y}-\frac{\partial \psi}{\partial x}, \quad w=\frac{\partial \chi}{\partial z} \tag{1.1}
\end{equation*}
$$

then the equilibrium equations of a transversally isotropic body under the condition that the $z$-axis is along the axis of elastic symmetry become

$$
\begin{gather*}
\frac{\partial \boldsymbol{L}_{1}}{\partial x}+\frac{\partial Q}{\partial y}=0, \quad \frac{\partial \boldsymbol{L}_{1}}{\partial y}-\frac{\partial Q}{\partial x}=0, \quad \frac{\partial \boldsymbol{L}_{2}}{\partial z}=0  \tag{1.2}\\
\boldsymbol{L}_{1}=A \Delta \varphi+L d^{2} \varphi / d z^{2}+(L+F) d^{2} \chi / d z^{2} \\
\boldsymbol{L}_{2}=(L+F) \Delta \varphi+L \Delta \chi+C d^{2} \chi / d z^{2}  \tag{1.3}\\
Q=N \Delta \psi+L d^{2} \psi / d z^{2}, \quad \Delta=d^{2} / d x^{2}+d^{2} / d y^{2}
\end{gather*}
$$

Here $A, L, F, N, C$ are elastic constants [4]. Let us construct the solution of the system (1.2) in the form

$$
\begin{equation*}
\varphi=\operatorname{Re} \varphi^{\circ}(\theta), \quad \psi=\operatorname{Re} \psi^{\circ}(\theta), \quad \chi=\operatorname{Re} \chi^{\circ}(\theta) \tag{1.4}
\end{equation*}
$$

The variable $\theta$ is defined by the relationship

$$
\begin{gather*}
\delta=\alpha \xi+\beta \eta+\nu \zeta+f(\theta)=0, \quad \alpha=\cos \theta, \quad \beta=\sin \theta \\
\xi=x-x_{0}, \quad \eta=y-y_{0}, \quad \zeta=z-z_{0} \tag{1.5}
\end{gather*}
$$

where the function $f(\theta)$ is arbitrary.
Complying with (1.2), and utilizing the differentiation formulas [5]

$$
\begin{align*}
\frac{\partial^{3} \psi}{\partial x^{2} \partial y} & =-\operatorname{Re} \frac{1}{\delta^{\prime}} \frac{\partial}{\partial \theta}\left[\frac{1}{\delta^{\prime}} \frac{\partial}{\partial \theta}\left(\frac{\alpha^{2} \beta \varphi^{\circ \prime}}{\delta^{\prime}}\right)\right], \\
\delta^{\prime} & =-\beta \xi+\alpha \eta+v^{\prime} \zeta+f^{\prime}(\theta) \tag{1.6}
\end{align*}
$$

we obtain

$$
\begin{gather*}
\left(A+v^{2} L\right) \varphi^{\circ \prime}+(L+F) v^{2} \chi^{\circ \prime}=0, \quad(L+F) \varphi^{\circ \prime}+\left(L+v^{2} C\right) \chi^{\circ \prime}=0  \tag{1.7}\\
\left(N+v^{2} L\right) \psi^{\circ \prime}=0 \tag{1.8}
\end{gather*}
$$

From (1.7) we deduce

$$
\left|\begin{array}{ll}
A+v^{2} L & (L+F) v^{2}  \tag{1.9}\\
L+F & L+v^{2} C
\end{array}\right|=0
$$

i. $e$. the function $v(\theta)$ is constant in the anisotropy case under consideration, and equals the roots $\pm i v_{1}, \pm i v_{2}$ of (1.9). For simplicity, we consider the $v_{k}$ in the latter to be real positive numbers.

A particular solution of (1.7)

$$
\begin{equation*}
\varphi_{k}{ }^{\circ \prime}\left(\theta_{k}\right)=\left(L-v_{k}{ }^{2} C\right) \omega_{k}\left(\theta_{k}\right), \quad \chi^{\circ \prime}\left(\theta_{k}\right)=-(L+F) \omega_{k}\left(\theta_{k}\right) \tag{1.10}
\end{equation*}
$$

corresponds to each root $v_{h}$, where the function $\omega_{k}$ is arbitrary.
From (1.8) we deduce $v=i v_{3}, v_{3}=\sqrt{N / L}, \psi^{\circ}$ is arbitrary.
The variable $\theta_{k}(k=1,2,3)$ is defined by the relationship

$$
\begin{equation*}
\delta_{k}=\alpha_{k} \xi+\beta_{k} \eta \pm i v_{k} \zeta+f_{k}\left(\theta_{k}\right)=0 \tag{1.11}
\end{equation*}
$$

According to (1.1)

$$
\begin{gather*}
u=-\operatorname{Re}\left[\sum_{k=1}^{2}\left(L-v_{k}{ }^{2} C\right) \frac{\omega_{k}}{\delta_{k}^{\prime}} \alpha_{k}+\frac{\beta_{3} \omega_{3}}{\delta_{3}^{\prime}}\right] \\
v=-\operatorname{Re}\left[\sum_{k=1}^{2}\left(L-v_{k}{ }^{2} C\right) \frac{\omega_{k}}{\delta_{k}^{\prime}} \beta_{k}-\frac{\alpha_{3} \omega_{3}}{\delta_{3}^{\prime}}\right]  \tag{1.12}\\
w=(L+F) \operatorname{Re} \sum_{l=1}^{2} \frac{i v_{k} \omega_{k}}{\delta_{k}^{\prime}}, \quad \omega_{3}=\psi^{\circ} \\
\delta_{k}^{\prime}=-\beta_{k} \xi+\alpha_{k} \eta+f_{k}^{\prime}\left(\theta_{k}\right) \quad(k=1,2,3)
\end{gather*}
$$

Formulas (1.12) contain the arbitrary functions $\omega_{k}, f_{k}$ and define a class of complex solutions of the equilibrium equations of the considered anisotropic medium. An analogous class of solutions can be constructed for the equilibrium equations of a medium with a general kind of anisotropy. The selection of the potentials (1.1) doas not limit the generality of the solutions in the class (1.12) since a mutually one-to-one correspondence can be established between them and the "complete" system of potentials governing the longitudinal and transverse displacements.

Let us examine particular cases.
a) Plane solutions. Let us put $\theta_{k}=\theta_{0}=$ const, $f_{k} \equiv-\theta_{k}$, then

$$
\begin{gather*}
\alpha_{k}=\cos \theta_{0}, \quad \beta_{k}=\sin \theta_{0}, \quad \delta_{k}^{\prime}=-1 \\
\theta_{k}=\xi \cos \theta_{0}+\eta \sin \theta_{0} \pm i v_{k} \zeta \tag{1.13}
\end{gather*}
$$

The solution (1.12) is written as

$$
\begin{align*}
u & =\operatorname{Re}\left\{\left[\left(L-v_{1}{ }^{2} C\right) \omega_{1}+\left(L-v_{2}{ }^{2} C\right) \omega_{2}\right] \cos \theta_{0}-\omega_{3} \sin \theta_{0}\right\} \\
v & =\operatorname{Re}\left\{\left[\left(L-v_{1}{ }^{2} C\right) \omega_{1}+\left(L-v_{2}{ }^{2} C\right) \omega_{2}\right] \sin \theta_{0}+\omega_{3} \cos \theta_{0}\right\}  \tag{1.14}\\
w & =\operatorname{Re}\left[-(L+F) i\left(v_{1} \omega_{1}+v_{1} \omega_{2}\right)\right]
\end{align*}
$$

In addition to the arbitrary analytic functions $\omega_{h}$, it contains the arbitrary parameter $\theta_{0}$, the governing solution of the plane problem in a plane passing through the $z$-axis and making the angle $\theta_{0}$ with the $x z$-plane. Integrating (1.14) with respect to $\theta_{0}$ between 0 and $2 \pi$, we obtain a new solution of the equilibrium equations (1.2). The development in this direction has been expounded in [6].
b) Homogeneous solutions. We obtain these by putting $f_{k} \equiv 0 \mathrm{in}(1.11)$. In this case we have

$$
\begin{align*}
& \alpha_{k}=\rho^{-2}\left(R_{k} \eta-i v_{k} \zeta \xi\right), \quad \beta_{k}=-\rho^{-2}\left(R_{k} \xi+i v_{k} \zeta \eta\right) \\
& \delta_{k}^{\prime}=-\beta_{k} \xi 1 \cdot \alpha_{k} \eta=R_{k}=\left(\rho^{2}+v_{k}^{2} \zeta^{2}\right)^{1 / 2}, \quad \rho^{2}=\xi^{2}+\eta^{2} \tag{1.15}
\end{align*}
$$

Just as in [7], it can be shown that solutions of the equilibrium equations of an anisotropic medium corresponding to the effect of a concentrated force at a point of infinite space or at a point of a half-space boundary are contained in this class.
2. Concentrated force in infinite space. Let us place the origin at the point where a concentrated force of intensity $P$ acts in the direction of the $z$-axis.

We put $\omega_{k}=i D_{k}$ in the solution (1.12), where $D_{k}$ are real constants and $\omega_{3}=0$ (no torsion). Then, taking account of (1.15), we obtain after separating out the real part and demanding boundedness of the radial displcement at $\rho=0$

$$
\begin{gather*}
u_{p}=-\sum_{k=1}^{2} \frac{\left(L-v_{k}{ }^{2} C\right) D_{k}}{R_{k} R_{k}^{*}}, \quad w=-(L+F) \sum_{k=1}^{2} \frac{v_{k} D_{k}}{R_{k}} \\
\left(R_{k}^{*}=R_{k}+v_{k} z^{2}\right) \tag{2.1}
\end{gather*}
$$

The following condition is hence imposed on the $D_{k}$

$$
\begin{equation*}
\left(L-v_{1}^{2} C\right) D_{1}+\left(L+v_{2}^{2} C\right) D_{2}=0 \tag{2.2}
\end{equation*}
$$

We derive another relationship from the requirement of equivalence between the loading due to stresses distributed over a small sphere described around the origin and the applied concentrated force $P$. We hence obtain

$$
\begin{equation*}
\left(F+v_{1}^{2} C\right) D_{1}+\left(F+v_{2}^{2} C\right) D_{2}=-P / 4 \pi L \tag{2.3}
\end{equation*}
$$

Substituting the value of $D_{h}$ into (2.1), we finally write

$$
\begin{gather*}
u_{\rho}=\frac{E_{0}(L+F)}{v_{2}-v_{1}}\left[\frac{1}{R_{1} R_{1}^{*}}-\frac{1}{R_{2} R_{2}^{*}}\right] \\
w=-\frac{E_{0}}{v_{2}-v_{1}}\left[\frac{v_{1}\left(L-v_{2}{ }^{2} C\right)}{R_{1}}-\frac{v_{2}\left(L-v_{1}{ }^{2} C\right)}{R_{2}}\right]  \tag{2.4}\\
\left.E_{0}=P\left[4 \pi L C / v_{1}+v_{2}\right)\right]^{-1}
\end{gather*}
$$

Putting $C=A=\lambda+2 \mu, L=\mu, F=\lambda$, where $\lambda, \mu$ are Lamé coefficients, we obtain the appropriate result for an isotropic medium after resolving the indeterminacy.
3. Concentrated force at point of a half-apace. If a concentrated
force $P$ is applied at a point $M_{0}\left(x_{0}, y_{0}, z_{0}\right)$ of a half-space, then we write (2.4) as

$$
\begin{equation*}
u=u_{1}+u_{2}, \quad v=v_{1}+v_{2}, \quad w=w_{1}+w_{2} \tag{3.1}
\end{equation*}
$$

where $p$ is the solution connected with the variable $\theta_{p}$ defined by the relationships

$$
\begin{gather*}
\delta_{p}=\xi \alpha_{p}+\eta \beta_{p}+i v_{p}\left(z-z_{0}\right)=0 \\
\alpha_{p}^{2}+\beta_{p}^{2}=1 \quad(p=1,2) \tag{3.2}
\end{gather*}
$$

Let us put the solution with subscript $d$ in correspondence with the $p q$-solution $u_{p q}{ }^{\circ}$, $v_{p q}{ }^{\circ}, w_{p q}{ }^{\circ}$ connected with the variable $\theta_{p q}$ defined by the relationship

$$
\begin{gather*}
\delta_{p q}=\xi \alpha_{p q}+\eta \beta_{p q}-i v_{p} z_{0}-i v_{q} z=0 \\
\alpha_{p q}^{2}+\beta_{p q}^{2}=1, \quad \delta_{p q}=R_{p q}=\left[\rho^{2}+\left(v_{p} z_{0}+v_{q} z\right)^{2}\right]^{1 / 2} \tag{3.3}
\end{gather*}
$$

This latter is defined uniquely by the demand of coincidence of all the variables on the half-space boundary $z=0$.

We find the solution with subscript $p q$ from the condition that the stresses $\sigma_{z p}{ }^{*}, v_{z x p}{ }^{*}$, $\tau_{z y p}{ }^{*}$ corresponding to the particular solution

$$
\begin{align*}
u_{p}^{*}= & u_{p}+u_{p 1}^{\circ}+u_{p 2}{ }^{\circ}, \quad v_{p}^{*}=v_{p}+v_{p 1}{ }^{\circ}+v_{p 2}{ }^{\circ} \\
& w_{p}{ }^{*}=w_{p}+w_{p_{1}}^{\circ}+w_{p_{2}}^{\circ} \quad(p=1,2) \tag{3.4}
\end{align*}
$$

vanish at $z=0$.
Let us introduce potentials by taking account of the absence of torsion

$$
\begin{equation*}
u_{p}^{*}=\frac{\partial \varphi_{p}^{*}}{\partial x}, \quad v_{p}^{*}=\frac{\partial \varphi_{p}^{*}}{\partial y}, \quad w_{p}^{*}=\frac{\partial \chi_{p}^{*}}{\partial z} \tag{3.5}
\end{equation*}
$$

Utilizing (1.10) and taking into account that $\alpha_{p q}=\alpha_{p}, \beta_{p q}=\beta_{p}, \theta_{p q}=\theta_{p}$ at $z=0$, we obtain

$$
\begin{align*}
& \left(F+v_{1}{ }^{2} C\right) v_{1} \omega_{p 1}+\left(F+v_{2}{ }^{2} C\right) v_{2} \omega_{p 2}=\left(F+v_{p}{ }^{2} C\right) v_{p} \omega_{p} \\
& \left(F+v_{1}{ }^{2} C\right) \omega_{p 1}+\left(F+v_{2}{ }^{2} C\right) \omega_{p 2}=-\left(F+v_{p}{ }^{2} C\right) \omega_{p} \tag{3.6}
\end{align*}
$$

from which

$$
\begin{equation*}
\omega_{p q}=\frac{F+v_{p}{ }^{2} C}{F+v_{q}{ }^{2} C} \frac{v_{p}+v_{q 1}}{v_{p}-v_{q 1}} \omega_{p}=i A_{p q} D_{p}, \quad q_{1}=3--q \tag{3.7}
\end{equation*}
$$

Therefore, we have for the radial displacement and the displacement in the $z$-direction

$$
\begin{equation*}
u_{\rho p q}{ }^{\circ}=\frac{\left(L-v_{q}{ }^{2} C\right) A_{p q} D_{p}\left(v_{p} z_{0}+v_{q} z\right)}{\rho R_{p q}}, \quad w_{p q}=\frac{-(L+F) A_{p q} v_{q} D_{p}}{R_{p q}} \tag{3.8}
\end{equation*}
$$

The functions $u_{p p q}{ }^{\circ}$ are unbounded for $\rho=0$. Hence, we transform from the solution (3.8) to the new $p q$-solution obtained from (3.8) by substituting the expression $1-\left(v_{p} z_{0}+v_{q} z\right) / R_{p q}$ for the fraction $v_{p} z_{0}+v_{q} z / R_{p q}$ in the formula for $u_{p p q}{ }^{\circ}$, which is equivalent to adding to (3.8) a particular solution of the form

$$
\begin{equation*}
u^{\circ}=A^{\circ} \xi \rho^{-2}, \quad v^{\circ}=A^{\circ} \eta \rho^{-2} \quad w^{\circ}=0 \tag{3.9}
\end{equation*}
$$

which satisfies the boundary conditions and the conditions at infinity. The need to add it can be discarded for other boundary conditions, say, rigid framing of the half-space boundary. We obtain

$$
\begin{gather*}
u_{\rho p q}=\frac{\left(L-v_{q}{ }^{2} C\right) A_{p q} D_{p}}{R_{p q} R_{p q}{ }^{*}}, \quad w_{p q}=-\frac{(L+F) A_{p q} v_{q} D_{p}}{R_{p q}}  \tag{3.10}\\
R_{p q}{ }^{*}=R_{p q}+v_{p^{0}} z+v_{q} z
\end{gather*}
$$

The final formulas for elastic displacements are written as

$$
\begin{gather*}
u_{p}=-\frac{(L+F) E_{0}}{\left(v_{1}-v_{2}\right)^{2}} \rho \sum_{p=1}^{2}\left[\frac{v_{p}-v_{p_{1}}}{R_{p} R_{p}{ }^{*}}-\frac{v_{p}+v_{p 1}}{R_{p p} R_{p p}{ }^{*}}+\frac{F+v_{p 1}{ }^{2} C}{F+v_{p}{ }^{2} C} \frac{2 v_{p}}{R_{p p_{1}} R_{p p_{1}}{ }^{*}}\right] \\
\left.w=\frac{-E_{0}}{\left(v_{1}-v_{2}\right)^{2}} \sum_{p=1}^{2}\left(L-v_{p 1}{ }^{2} C\right) v_{p} \left\lvert\, \frac{v_{p}-v_{p 1}}{R_{p}}-\frac{v_{p}+v_{p 1}}{R_{p p}}+\frac{F+v_{p}{ }^{2} C}{F+v_{p 1}{ }^{2} C} \frac{2 v_{p 1}}{R_{p p 1}}\right.\right]  \tag{3.11}\\
\left(p_{1}=3-p\right)
\end{gather*}
$$

For $z_{0}=0$ we derive a solution from (3.11) which corresponds to the effect of a concentrated force on a half-space boundary [6] (*)

Putting

$$
\begin{gather*}
u_{\rho}=\frac{P(L+F) p v_{1} v_{2}}{2 \pi L\left(v_{2}-v_{1}\right)}\left[\frac{v_{1}}{A+v_{1}^{2} F} \frac{1}{R_{1} R_{1}^{*}}-\frac{v_{2}}{A+v_{2}^{2} F} \frac{1}{R_{2} R_{2}^{*}}\right] \\
w=\frac{P(L+F) v_{1} v_{2}}{2 \pi L\left(v_{2}-v_{1}\right)}\left[\frac{v_{2}^{2}}{A+v_{2}^{2} F} \frac{1}{R_{1}}-\frac{v_{1}^{2}}{A+v_{1}^{2} F} \frac{1}{R_{2}}\right]  \tag{3.12}\\
A=C=\lambda+2 \mu, \quad F=\lambda, \quad t=\mu
\end{gather*}
$$

in (3.11), and resolving the indeterminacy, we obtain the known Mindlin solution [8].
4. Concentrated force at a point of compoitte ipace. Here,besides the "reflected" $p \dot{q}$-solution it is necessary to take account of the "refracted" $p q$-solution connected with the variable $\theta_{p q}^{(1)}$ defined by the relationship

$$
\begin{equation*}
\delta_{p q}{ }^{(1)}=\alpha_{p q}{ }^{(1)} \xi+\beta_{p q}{ }^{(1)} \eta-i v_{p} z_{0}+i v_{q}{ }^{(1)} z=0 \tag{4.1}
\end{equation*}
$$

Particular solutions of the form

$$
\begin{equation*}
u_{p}^{*}=u_{p}+u_{p 1}^{0}+u_{p_{2}}^{0}+u_{p_{1}}^{(1)}+u_{p 2}^{(1)}, \ldots \tag{4.2}
\end{equation*}
$$

are selected in such a manner that given conditions of coupling the considered transversally isotropic half-spaces would be satisfied. For example, in the case of a smooth contact, we have at the interface $z=0$

$$
\begin{equation*}
\sigma_{z}=\sigma_{z}{ }^{(1)}, \quad w=w^{(1)}, \quad \tau_{z \rho}=\tau_{z \rho}^{(1)}=0 \tag{4.3}
\end{equation*}
$$

If a concentrated force of intensity $P$ acts at the point $M_{0}\left(x_{0}, y_{0}, z_{0}\right)$ of a half-space with the elastic constants $A, C, F, \ldots$, then in the absence of torsion we have in place of $(3.6)$

$$
\begin{gather*}
L\left(F+v_{1}{ }^{2} C\right) \omega_{p 1}+L\left(F+v_{2}{ }^{2} C\right) \omega_{p 2}-L^{(1)}\left(F^{(1)}+v_{1}^{(1)} C^{(1)}\right) \omega_{p 1}{ }^{(1)}-L^{(1)}\left(F^{(1)}+v^{(1)} C^{(1)}\right) \omega^{(1)}{ }_{p 2}= \\
=-L\left(F+v_{p}{ }^{2} C\right) \omega_{p} \\
v_{1}\left(F+v_{1}^{2} C\right) \omega_{p 1}+v_{2}\left(F+v_{2}^{2} C\right) \omega_{p 2}=v_{p}\left(F+v_{p}^{2} C\right) \omega_{p} \\
v_{1}^{(1)}\left(F^{(1)}+v_{1}{ }^{(1) 2} C\right) \omega_{p 1}{ }^{(1)}+v_{2}^{(1)}\left(F^{(1) 2}+v_{2}^{(1)} C\right) \omega_{p 2}{ }^{(1)}=0  \tag{4.4}\\
v_{1} \omega_{p 1}+v_{2} \omega_{p 2}+v_{1}^{(1)} \omega_{p 1}{ }^{(1)}+v_{2}{ }^{(1)} \omega_{p 2}{ }^{(1)}=v_{p} \omega_{p}
\end{gather*}
$$

The relationships (4.4) allow the construction of a solution of the formulated problem in elementary form, and in particular, obtaining the appropriate solution for an isotropic composite space comprised of isotropic half-spaces of various materials. However, because of the awkwardness of the formulas obtained, it will be presented just for the case when the materials of the half-spaces are identical $A^{(1)}=A, \ldots$

Under the mentioned conditions we have

[^0]\[

$$
\begin{gather*}
\omega_{p q}=1 / 2\left(S_{p q}+Q_{p q}\right), \quad \omega_{p q}{ }^{(1)}=1 / 2\left(S_{p q}-Q_{p q}\right) \\
S_{p q}=\frac{v_{p}\left(v_{q 1}-v_{p}\right)}{v_{q}\left(v_{q 1}-v_{q}\right)}, \quad Q_{p q}=-\frac{F+v_{p}^{2} C}{F+v_{q}^{2} C} \frac{v_{p}+v_{q 1}}{v_{q 1}-v_{q}} \tag{4.5}
\end{gather*}
$$
\]

Substituting (4.5) into formulas for displacements of the form (1.12) and adding the solution of the form (3.9), we find the desired solution

$$
\begin{align*}
& u_{\rho}=-\frac{E_{0}(L+F)}{\left(v_{1}-v_{2}\right)^{2}} \rho \sum_{p=1}^{2}\left[\frac{v_{p}-2 v_{p 1}}{R_{p} R_{p}{ }^{*}}-\frac{v_{p}}{R_{p p} R_{p p}{ }^{*}}+\right. \\
& \left.+\frac{F+v_{p 1^{2}} C}{F+v_{p}{ }^{2} C}\left(\frac{v_{p}}{R_{p p_{2}} \cdot R_{p p_{t}}{ }^{*}}+\frac{v_{p}}{R_{p p_{1}}{ }^{(1)} R_{p p_{1}}{ }^{(1)^{*}}}\right)\right] \\
& w=-\frac{E_{0}}{\left(v_{1}-v_{2}\right)^{2}} \sum_{p=1}^{2}\left(L-v_{p_{1}}{ }^{2} C\right) v_{p}\left[\frac{v_{p}-2 v_{p_{1}}}{R_{p}}-\frac{v_{p}}{R_{p p}}+\right. \\
& \left.+\frac{F+v_{p}{ }^{2} C}{F+v_{p_{1}}{ }^{2} C}\left(\frac{v_{p_{1}}}{R_{p p_{1}}}+\frac{v_{p_{1}}}{R_{p p_{1}}{ }^{(1)}}\right)\right]  \tag{4.6}\\
& R_{p p_{1}}=\left[\rho^{2}+\left(v_{p_{1}} z^{z}-v_{p_{0}} z_{0}^{2}\right]^{1 / 2}, \quad R_{p p_{1}}{ }^{(1) *}=R_{p p_{1}}{ }^{(1)}+v_{p_{1}} z^{z}-v_{p} z_{0}\right.
\end{align*}
$$

By a passage to the limit, the appropriate solution can be derived for an isotropic medium from (4.6).

For $z_{n}=0$ we again obtain (3.12), which is suitable to describe the state of stress of both half-spaces.

It is easy to examine the case when the interface between the half-spaces is not perpendicular to the axis of elastic symmetry. For example, if the plane $y=0$ is the interface, then it is convenient to represent the solution (2.4) in the form

$$
\begin{gather*}
u=-\operatorname{Re}\left[\left(L-v_{1}^{2} C\right) \alpha_{1}\left(\delta_{1}^{\prime}\right)^{-1} \omega_{1}+\left(L-v_{2}{ }^{2} C\right) d_{2}\left(\delta_{2}^{1}\right)^{-1} \omega_{2}\right] \\
v=-\operatorname{Re}\left[\left(L-v_{1}^{2} C\right) \beta_{1}\left(\delta_{1}^{\prime}\right)^{-1} w_{1}+\left(L-v_{2}^{2} C\right) \beta_{2}\left(\delta_{2}^{\prime}\right)^{-1} \omega_{2}\right] \\
w=(L+F) \operatorname{Re}\left[\left(\delta_{1}^{\prime}\right)^{-1} \omega_{1}+\left(\delta_{2}\right)^{-1} \omega_{2}\right] \tag{4.7}
\end{gather*}
$$

Here

$$
\begin{gather*}
\delta_{p}=\alpha_{p} \xi+\beta_{p} \eta+\zeta=0, \quad \delta_{p}^{\prime}=\alpha_{p}^{\prime} \xi+\beta_{p}^{\prime} \eta \quad(p=1,2) \\
\alpha_{p}^{\prime}=d \alpha_{p} / d \theta_{p}, \quad \beta_{p}^{\prime}=d \beta_{p} / d \theta_{p}, \quad \alpha_{p}=\theta_{p} \\
\beta_{p}=i \sqrt{v_{p}{ }^{-2}+\theta_{p}{ }^{2}}, \quad \omega_{p}=D_{p} \beta_{p}{ }^{-1} \tag{4.8}
\end{gather*}
$$

The "reflected" and "refracted" solutions are connected with variables defined by the relationships

$$
\begin{gather*}
\delta_{p q}=\alpha_{p q} \xi-\beta_{p q} y-\beta_{p} y_{0}+\zeta=0 \\
\delta_{p q}{ }^{(1)}=\alpha_{p q}(\mathbf{1}) \xi+\beta_{p q} y-\beta_{p} y_{0}+\zeta=0 \quad\binom{p=1,2}{q=1,2,3} \\
\alpha_{p q}=\theta_{p q}, \quad \beta_{p q}=i \sqrt{v_{q}^{-2}+\theta_{p q}{ }^{2}}  \tag{4.9}\\
\alpha_{p q}=\theta_{p q}{ }^{(1)}, \quad \beta_{p q}{ }^{(1)}=i \sqrt{v_{q}^{(1)-2}+\theta_{p q}^{(1)}}
\end{gather*}
$$

All the variables coincide at the interface. The solutions metioned above, with subscript $p q$, have been chosen from the accepted coupling conditions. The scheme of the solution remains as before.

Let us note that the solution does not turn out to be elementary for $y_{0} \neq 0$, and requires solution of a fourth power algebraic equation. However, for $y_{0}=0$, i, e. under the
effect of a concentrated force along the interface, it again becomes elementary.
In conclusion, let us note the possibility of applying the method to solve the same problems for media with a more general kind of anisotropy.

## BIBLIOGRAPHY

1. Kröner, E. . Das Fundamentalintegral der anisotropen elastischen Differentialgleichungen. Z. für Physic, Bd. 136, H.4, 1953.
2. Basheleishvili, M. O., On fundamental solutions of the differential equations of an anisotropic elastic body. Soobshch. Akad. Nauk GruzSSR, Vol, 19, N4, 1957.
3. Kupradze, V. D., Gegeliia, T. G., Basheleishvili, M. O. and Burchuladze, T.V., Three-dimensional problems of mathematical elasticity theory. Ch. XIII, Tbilisi, Tbilisi Univ, Press, 1968.
4. Love, A. , Mathematical Theory of Elasticity (Russian translation). MoscowLeningrad, ONTI, 1937.
5. Sveklo, V.A., On the solution of dynamic problems in the plane theory of elasticity for anisotropic body. PMM Vol. 25, N5, 1961.
6. Sveklo, V. A., Boussinesq type problems for the anisotropic half-space. PMM Vol. 28, N5. 1964.
7. Frank, P. and Von Mises, R.. Differential and Integral Equations of Mathematical Physics,pt.2,(Russian translation). Moscow-Leningrad, ONTI, 1937.
8. Lur'e, A, I. , Three-dimensional Problems of Elasticity Theory. Moscow, Gostekhizdat, 1955.

Translated by M. D. F.

# STRESS CONDITIONS IN PLATES REINFORCED BY STIFFENING RIBS 

PMM Vol. 33, N³, 1969, pp. 538-543

A. I. KALANDIIA
(Tbilisi)
(Received December 24, 1968)
The problem of sresses transmitted through a stiffening rib in a plate is usually examined under various simplifying assumptions (see e.g. [1-5]).

A sufficiently simple method is proposed below for effective construction of solutions for problems of this type. This approach based on known methods of solution of planar problems permits to construct the solution in finite form.

The solution is found in integrals of the Cauchy type. The density of these integrals is determined by means of Fourier transformation.

1. The method of solution will be presented using as an example an elastic half-plane reinforced by a semi-infinite straight stringer (stiffening rib) continuously attached to the plane along the boundary.

We shall assume that the stresses (in the plate and in the stringer) are produced by only one axial force applied at the end of the stringer.

We locate the plate in the lower half-plane of the plane of the complex variable $z=x+i y$ and let the stringer coincide with the positive part of the real axis. One end


[^0]:    *) It is necessary to eliminate the inaccuracy in evaluating the integrals (4.12) in [6] p. 1103.

